# On the sum-connectivity index of unicyclic graphs with k pendent vertices

JINGJING CHEN<sup>1</sup> AND SHUCHAO LI<sup>2,\*</sup>

 <sup>1</sup> College of Mathematics and Computer Science, Wuhan Textile University, Wuhan 430 074, P. R. China
 <sup>2</sup> Faculty of Mathematics and Statistics, Central China Normal University, Wuhan 430 079, P. R. China

Received January 9, 2010; accepted December 6, 2010

**Abstract.** The sum-connectivity index R'(G) of a graph G is the sum of the weights  $(d_u + d_v)^{-\frac{1}{2}}$  of all edges uv of G, where  $d_u$  and  $d_v$  are the degrees of the vertices u and v in G. This index was recently introduced in [B. Zhou, N. Trinajstić, On a novel connectivity index, J. Math. Chem. **46**(2009), 1252–1270]. In this paper, we give the sharp lower bound of the sum-connectivity index of *n*-vertex unicyclic graphs with k pendent vertices. **AMS subject classifications**: 05C05, 92E10

Key words: Randić connectivity index, sum-connectivity index, unicyclic graph, pendent vertices

## 1. Introduction

All graphs considered in this paper are finite, undirected and simple. For terminology and notation not defined here we follow those in Bondy and Murty [1]. For a graph G = (V(G), E(G)), the weight of an edge  $e = uv \in E(G)$  is defined to be  $w_e = (d_u + d_v)^{-\frac{1}{2}}$ , where  $d_u, d_v$  denote the degree of u, v in G, respectively.

Recall that the Randić connectivity index of a graph G is the sum of the weights  $w'_e$ , where e = uv and  $w'_e = (d_u d_v)^{-\frac{1}{2}}$ . The Randić connectivity index is a graphic invariant much studied in both mathematical and chemical literature; for details see a survey book written by Li and Gutman [8] and the references cited therein. Thus, the graphic invariant studied in this paper can be looked as a novel variant of the Randić index. It is also due to the fact that the two graphic invariants are highly intercorrelated quantities; for example, the value of the correlation coefficient is 0.99088 for 136 trees representing the lower alkanes taken from Ivanciuc et al. [4]. In [12], the Randić connectivity index is called the *product connectivity index*, whereas the sum of edge weights studied in this paper is called the *sum-connectivity index*. However, it is remarkable that until now, the sum-connectivity index eluded the attention of both "pure" and applied graph theoreticians. The aim of the present paper is to contribute towards filling this gap.

\*Corresponding author. *Email addresses:* cjingjing2001@163.com (J.J.Chen), lscmath@mail.ccnu.edu.cn (S.C.Li)

http://www.mathos.hr/mc

©2011 Department of Mathematics, University of Osijek

In [12], Zhou and Trinajstić first introduced the sum-connectivity index. They determined the upper and lower bounds of this index for trees in terms of other graph invariants. They determined the unique tree with fixed numbers of vertices and pendent vertices with the minimum value of the sum-connectivity index, and trees with the minimum, second-minimum and third-minimum, and the maximum, second-maximum and third-maximum values of this index. Additionally, they discussed the properties of the sum-connectivity index for a class of trees representing acyclic hydrocarbons. In [7], Lučić, Trinajstić and Zhou report the relationship between the two versions of the connectivity index for a set of lower benzenoid hydrocarbons. They also study the relationship between connectivity indices and  $\pi$ -electronic energy of benzenoids, which implies that the sum-connectivity index even in this case outperforms the product-connectivity index. They finally draw the conclusion that the sum-connectivity index is closely related to molecular descriptors. In [6], we determined the sharp bounds on the sum-connectivity index of trees and unicyclic graphs with a perfect matching in term of vertices, respectively. Additionally, a sharp lower bound on this index of trees and unicyclic graphs with a given size of matching was characterized, respectively. In [5], we determined the *n*-vertex unicyclic graph of a given girth with the minimum value of this index. We also characterized the unicyclic graphs with the minimum, the second-minimum, the maximum and the second-maximum values of this index. The corresponding extremal graphs were characterized. Some more recent results on the sum-connectivity index can be found in [2, 3, 11, 13].

In this paper, we study an extremal problem on the sum of edge weights of unicyclic graphs: determine the sharp lower bound of the sum-connectivity index of n-vertex unicyclic graphs with the given number of pendent vertices. The extremal graphs with a minimal value of the sum-connectivity index in the set of a unicyclic graph with k pendent vertices are completely characterized.

#### 2. Notations and Lemmas

For a vertex x of the graph G, we denote the neighborhood and the degree of x by  $N_G(x)$  and  $d_x$  (or  $d_G(x)$ ), respectively. The number  $\Delta(G) := \max\{d_v | v \in V(G)\}$  is the maximum degree of G. The Randić connectivity index [10] R = R(G) of G is defined as

$$R = R(G) = \sum_{uv \in E(G)} \frac{1}{\sqrt{d_u d_v}}.$$

The sum of edge weights R' = R'(G) of G, which is called the sum-connectivity index [12], is defined as

$$R' = R'(G) = \sum_{uv \in E(G)} \frac{1}{\sqrt{d_u + d_v}}.$$

We call R(G) and R'(G) the product-connectivity index and the sum-connectivity index, respectively.

Given a graph G, if  $W \subseteq V(G)$ , by G - W we denote the subgraph of G obtained by deleting the vertices of W and the edges incident with them; Specially, when  $W = \{v\}$ , we write G - v instead of  $G - \{v\}$ . A pendent vertex is a vertex of degree one. Let  $P = v_0 v_1 \dots v_s$  be a path of G with  $d(v_1) = d(v_2) = \dots = d(v_s) = 2$  (unless s = 1). If  $d(v_0) = 1$  and  $d(v_s) \ge 3$ , then we call P a pendent path of G; If  $d(v_0) \ge 3$ and  $d(v_s) \geq 3$ , then we call P an *internal path* of G

Unicyclic graphs are connected graphs with n vertices and n edges. Denote

 $\mathscr{U}_{n,k} = \{G : G \text{ is a unicyclic graph with } n \text{ vertices and } k \text{ pendent vertices} \}.$ 

By  $P_n, C_n$  and  $K_{1,n-1}$  we denote the path, the cycle and the star on n vertices, respectively. Let  $U_k^n$  denote the graph obtained by attaching k pendent vertices to exactly one vertex of  $C_{n-k}$ ; whereas U(n, k, p) denotes the graph obtained by connecting the center of the star graph  $K_{1,k}$  and one vertex of  $C_{n-k-p}$  by an internal path  $P = u_0 u_1 \dots u_p$ . Graphs  $U_k^n$  and U(n, k, p) are depicted in Figure 1.



Figure 1: Graphs  $U_k^n$  and U(n, k, p)

In this section, we give some lemmas which will be used in the next section. Let

$$\phi(n,k) = \frac{2}{\sqrt{k+4}} + \frac{k}{\sqrt{k+3}} + \frac{n-k-3}{2}$$

Lemma 1 (See [9]). Let  $G \in \mathscr{U}_{n,k}$ , then  $\Delta(G) \leq k+2$ .

Lemma 2. Let  $G \in \mathscr{U}_{n,1}$ . Then

$$R'(G) \ge \phi(n,1). \tag{1}$$

Furthermore, the equality in (1) holds if and only if  $G \cong U_1^n$ .

**Proof.** First we note that if  $G \cong U_1^n$ , then the equality in (1) holds obviously.

Since  $G \in \mathscr{U}_{n,1}$ , by Lemma 1, it is easy to see that G is isomorphic to the graph obtained from a cycle  $C_p$  by attaching a path of length n-p to a vertex of  $C_p$ . Then if  $G \not\cong U_1^n$ , we have

$$R'(G) - R'(U_1^n) = \left(\frac{1}{\sqrt{3}} + \frac{3}{\sqrt{5}} + \frac{n-4}{2}\right) - \left(\frac{2}{\sqrt{5}} + \frac{1}{2} + \frac{n-4}{2}\right) = \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{5}} - \frac{1}{2} > 0.$$
  
Thus, the lemma follows.

Thus, the lemma follows.

**Lemma 3.** Let  $f(x) := \sqrt{x} - \frac{3}{\sqrt{x}} + \frac{2}{\sqrt{x+1}}$ ,  $g(x) := \sqrt{x+2} - \frac{3}{\sqrt{x+2}} + \frac{2}{\sqrt{x+3}}$  and  $h(x) := \sqrt{x+2} - \frac{2}{\sqrt{x+2}} + \frac{2}{\sqrt{x+3}}$ , where x is a positive real number. Then f(x) - f(x+1), g(x) - g(x+1) and h(x) - h(x+1) are strictly monotone increasing in x.

**Proof.** Note that for  $x \ge 0$ , we have

$$\frac{\partial^2 f(x)}{\partial x} = -\frac{1}{4} \cdot \frac{1}{x^{\frac{3}{2}}} - \frac{9}{4} \cdot \frac{1}{x^{\frac{5}{2}}} + \frac{3}{2} \cdot \frac{1}{(x+1)^{\frac{5}{2}}} < -\frac{1}{4} \cdot \frac{1}{x^{\frac{3}{2}}} - \frac{9}{4} \cdot \frac{1}{x^{\frac{5}{2}}} + \frac{3}{2} \cdot \frac{1}{x^{\frac{5}{2}}} < 0.$$

Hence, f'(x) is a strict monotone decreasing function for x > 0. In order to show that f(x) - f(x+1) is a strict monotone increasing function in x, it suffices to show that (f(x) - f(x+1))' > 0. In fact, as f'(x) is a strict monotone decreasing function for x > 0, we have (f(x) - f(x+1))' = f'(x) - f'(x+1) > 0, as desired.

On the other hand,

$$\frac{\partial^2 g(x)}{\partial x} = -\frac{1}{4(x+2)^{\frac{3}{2}}} - \frac{9}{4(x+2)^{\frac{5}{2}}} + \frac{3}{2(x+3)^{\frac{5}{2}}} < -\frac{1}{4(x+2)^{\frac{3}{2}}} - \frac{9}{4(x+2)^{\frac{5}{2}}} + \frac{3}{2(x+2)^{\frac{5}{2}}} < 0.$$

Hence, g'(x) is a strict monotone decreasing function for x > 0. Hence, (g(x) - g(x + 1))' = g'(x) - g'(x + 1) > 0, which implies that g(x) - g(x + 1) is a strict monotone increasing function in x.

By a similar discussion as above, we can also show that h(x) - h(x+1) is strictly monotone increasing in x. We omit the procedure here.

This completes the proof.

It is straightforward to check that the following lemma is true.

**Lemma 4.** Let  $t(x) = \frac{x}{\sqrt{x+2}} - \frac{x-1}{\sqrt{x+1}}$  and  $p(x) = \frac{1}{\sqrt{x+3}} - \frac{1}{\sqrt{x+2}}$ , where  $x \ge 0$ . Then both t(x) and p(x) are monotone increasing.

**Lemma 5.** For x > 0, the function  $q(x) = \frac{x-2}{\sqrt{x+1}} + \frac{1}{\sqrt{x+2}} - \frac{x-2}{\sqrt{x}}$  is monotone decreasing in x.

**Proof.** Let  $l(x) = \sqrt{x} - \frac{2}{\sqrt{x}} + \frac{1}{\sqrt{x+1}}$ . Note that

$$q(x) = \frac{x-2}{\sqrt{x+1}} + \frac{1}{\sqrt{x+2}} - \frac{x-2}{\sqrt{x}}$$
$$= \sqrt{x+1} - \sqrt{x} - \frac{3}{\sqrt{x+1}} + \frac{2}{\sqrt{x}} + \frac{1}{\sqrt{x+2}} = l(x+1) - l(x).$$

As

$$l^{\prime\prime}(x)=-\frac{1}{4x^{\frac{3}{2}}}-\frac{3}{2x^{\frac{5}{2}}}+\frac{3}{4(x+1)^{\frac{5}{2}}}<-\frac{1}{4x^{\frac{3}{2}}}-\frac{3}{2x^{\frac{5}{2}}}+\frac{3}{4(x)^{\frac{5}{2}}}<0,$$

we obtain l(x+1)-l(x) is monotone decreasing, i.e., q(x) is monotone decreasing.  $\Box$ 

# 3. Minimum R'(G)-value of graphs in $\mathscr{U}_{n,k}$

In this section, mathematical properties of the sum R'(G) of edge weights of unicyclic graphs are studied. We determine the unique *n*-vertex unicyclic graph with kpendent vertices having the minimum R'-value. The product-connectivity index for unicyclic graphs with k pendent vertices has been studied in [9].

**Theorem 1.** Let  $G \in \mathscr{U}_{n,k}$ . Then

$$R'(G) \ge \phi(n,k) \tag{2}$$

and the equality in (2) holds if and only if  $G \cong U_k^n$ .

**Proof.** Note that if  $G \cong U_k^n$ , then by an elementary calculation the equality in (2) holds. Now we proceed by induction on k to show that if  $G \in \mathscr{U}_{n,k}$ , then (2) holds and the equality in (2) holds only if  $G \cong U_k^n$ .

For k = 0,  $\mathscr{U}_{n,0} = \{C_n\}$ , whence the theorem holds obviously. By Lemma 1, Theorem 1 holds for k = 1. So in what follows, we assume that  $k \ge 2$ .

Let  $V_0 = \{u : u \text{ is a pendent vertex of } G\}, V_1 = \bigcup_{u \in V_0} N(u)$  and  $V_2 = V(G) \setminus (V_0 \cup V_1).$ 

**Case 1.** There exists some  $v \in V_1$  such that  $|N(v) \setminus V_0| \ge 2$ .

In this case, let  $d_v = t$ . Then  $t = |N(v)| \ge 3$  and by Lemma 1,  $t \le k+2$ . Denote  $N(v) \cap V_0 = \{v_1, v_2, \ldots, v_r\}$  and  $N(v) \setminus V_0 = \{x_1, x_2, \ldots, x_{t-r}\}$ . Then  $t-r = |N(v) \setminus V_0| \ge 2$  and all  $d(x_i) = d_i \ge 2$ . Let  $G' = G - v_1$ . Then  $G' \in \mathcal{U}_{n-1,k-1}$ . Thus, by the definition of the sum-connectivity index, we have

$$R'(G) = R'(G') + \frac{r}{\sqrt{t+1}} - \frac{r-1}{\sqrt{t}} - \sum_{i=1}^{t-r} \left( \frac{1}{\sqrt{t+d_i-1}} - \frac{1}{\sqrt{t+d_i}} \right)$$
  

$$\geq R'(G') + \frac{r}{\sqrt{t+1}} - \frac{r-1}{\sqrt{t}} - (t-r) \left( \frac{1}{\sqrt{t+1}} - \frac{1}{\sqrt{t+2}} \right)$$
(3)

$$= R'(G') + \sqrt{t+1} - \sqrt{t} + \frac{1}{\sqrt{t}} - \frac{1}{\sqrt{t+1}} + (t-r)\left(\frac{1}{\sqrt{t}} - \frac{2}{\sqrt{t+1}} + \frac{1}{\sqrt{t+2}}\right)$$
  
>  $\phi(r_{t-1}, k_{t-1}) + \sqrt{t+1} - \sqrt{t} + \frac{1}{1} - \frac{1}{1}$  (4)

$$\geq \phi(n-1,k-1) + \sqrt{t+1} - \sqrt{t} + \frac{1}{\sqrt{t}} - \frac{1}{\sqrt{t+1}}$$
(4)

$$+2\left(\frac{1}{\sqrt{t}} - \frac{2}{\sqrt{t+1}} + \frac{1}{\sqrt{t+2}}\right)$$

$$= \phi(n,k) - \left(\frac{2}{\sqrt{k+4}} + \frac{k}{\sqrt{k+3}} + \frac{n-k-2}{2}\right)$$

$$+ \left(\frac{2}{\sqrt{k+3}} + \frac{k-1}{\sqrt{k+2}} + \frac{n-k-2}{2}\right)$$

$$+ \frac{t}{\sqrt{t+1}} - \frac{t-1}{\sqrt{t}} + 2\left(\frac{1}{\sqrt{t}} - \frac{2}{\sqrt{t+1}} + \frac{1}{\sqrt{t+2}}\right)$$

$$= \phi(n,k) + \left(\frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}}\right) - \left(\frac{t-3}{\sqrt{t}} - \frac{t-4}{\sqrt{t+1}} - \frac{2}{\sqrt{t+2}}\right). (5)$$

Equality in (4) holds if and only if  $d_i = 2, i = 1, 2, ..., t - r$ , whereas equality in (5) holds if and only if  $R'(G') = \phi(n-1, k-1)$  and t-r = 2. Let  $f(x) = \sqrt{x} - \frac{3}{\sqrt{x}} + \frac{2}{\sqrt{x+1}}$ . Then, by (5), we have

$$R'(G) \ge \phi(n,k) + (f(k+2) - f(k+3)) - (f(t) - f(t+1)) \ge \phi(n,k).$$
(6)

The last inequality follows from Lemma 3 as  $t \leq k+2$ . The equality in (6) holds if and only if t = k + 2.

Hence,  $R'(G) = \phi(n,k)$  holds if and only if equalities in (3), (4) and (6) hold, i.e.,

$$R'(G') = \phi(n-1, k-1), t = k+2, t-r = 2 \text{ and } d_1 = d_2 = 2.$$

By the induction hypothesis,  $G' \cong U_{k-1}^{n-1}$ . Notice that  $U_{k-1}^{n-1}$  has a unique vertex of a degree greater than 2. Hence,  $G \cong U_k^n$ .

**Case 2.** For every  $u \in V_1$ ,  $|N(u) \setminus V_0| = 1$ .

Choose a vertex  $u \in V_1$ . Let  $d_u = t$ . Note that  $G \in \mathscr{U}_{n,k}$ , hence we get that  $t \leq k+1$ . We consider the following two possible subcases.

#### **Subcase 2.1.** t = k + 1.

In this subcase, it is not difficult to see that  $G \cong U(n,k,p)$  for some  $1 \leq p \leq 1$ n-k-3. Let  $f(n,k) := R'(U(n,k,p)) - R'(U_k^n)$ . Then by the definition of the sum-connectivity index, we have

$$f(n,k) = \frac{k}{\sqrt{k+2}} + \frac{1}{\sqrt{k+3}} + \frac{3}{\sqrt{5}} + \frac{n-k-4}{2} - \phi(n,k)$$
  
=  $\sqrt{k+2} - \sqrt{k+3} + \frac{4}{\sqrt{k+3}} - \frac{2}{\sqrt{k+2}} - \frac{3}{\sqrt{k+4}} + \frac{3}{\sqrt{5}} - \frac{1}{2}$   
=  $\left(\sqrt{k+2} - \frac{2}{\sqrt{k+2}} + \frac{2}{\sqrt{k+3}}\right)$   
 $- \left(\sqrt{k+3} - \frac{2}{\sqrt{k+3}} + \frac{2}{\sqrt{k+4}}\right) + \frac{3}{\sqrt{5}} - \frac{1}{2}.$  (7)

Let  $h(x) = \sqrt{x+2} - \frac{2}{\sqrt{x+2}} + \frac{2}{\sqrt{x+3}}$ , then in view of equation (7), we have

$$f(n,k) = h(k) - h(k+1) + \frac{3}{\sqrt{5}} - \frac{1}{2}$$
  
>  $(\sqrt{3} - \frac{2}{\sqrt{3}} + 1) - (\sqrt{4} - 1 + \frac{2}{\sqrt{5}}) + 0.8416 = 0.5246 > 0.$ 

The last second inequality follows by Lemma 3.

**Subcase 2.2.**  $t \neq k + 1$ .

In this subcase,  $|V_1| \ge 2$ . Then there exists some  $v \in V_1$  such that  $|N(v) \cap V_0| \le \frac{k}{2}$ . Without loss of generality, assume that  $|N(u) \cap V_0| \le \frac{k}{2}$ . Then  $t = |N(u)| \le \frac{k}{2} + 1$ . Denote  $N(u) \cap V_0 = \{v_1, v_2, \dots, v_{t-1}\}, N(u) \setminus V_0 = \{x_1\}$  and  $d(x_1) = d_1 \ge 2$ .

If t = 2, then let  $P = u_0 u_1 \cdots u_s$  be a pendent path with  $u_0 = v_1, u_1 = u, u_2 = x_1, s \ge 2$  and  $d(u_s) \ge 3$ . Let  $G' = G - \{u_0, u_1, \dots, u_{s-1}\}$  and  $d(u_s) = d$ , then  $G' \in \mathcal{U}_{n-s,k-1}$  and  $d \le k+1$  by Lemma 1. Denote  $N(u_s) \setminus \{u_{s-1}\} = \{y_1, y_2, \dots, y_{d-1}\}$ . Then  $d(y_i) \ge 2$  for each  $i = 1, 2, \dots, d-1$  (otherwise, there exists some  $y_i$  such that  $d(y_i) = 1$ . If  $N(u_s) \cap V_0 = \{y_1, y_2, \dots, y_{d-1}\}$ , then G is isomorphic to a graph obtained from a star  $S_k$  and the path  $P = u_0 u_1 \cdots u_s$  by identifying  $u_s$  with the central vertex of  $S_k$ , a contradiction to  $G \in \mathcal{U}_{n,k}$ . Then,  $|N(u) \cap V_0| \le d-2$ , hence  $|N(u) \setminus V_0| \ge 2$ , once again a contradiction to our assumption in Case 2). Thus,

$$\begin{aligned} R'(G) &= R'(G') + \frac{1}{\sqrt{3}} + \frac{s-2}{2} + \frac{1}{\sqrt{d+2}} - \sum_{i=1}^{d-1} \left( \frac{1}{\sqrt{d+d(y_i)-1}} - \frac{1}{\sqrt{d+d(y_i)}} \right) \\ &\geq \phi(n-s,k-1) + \frac{1}{\sqrt{3}} + \frac{s-2}{2} + \frac{1}{\sqrt{d+2}} \\ &- \sum_{i=1}^{d-1} \left( \frac{1}{\sqrt{d+d(y_i)-1}} - \frac{1}{\sqrt{d+d(y_i)}} \right) \\ &= \phi(n,k) + \frac{1}{\sqrt{d+2}} - (d-1) \left( \frac{1}{\sqrt{d+1}} - \frac{1}{\sqrt{d+2}} \right) \\ &+ \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{1}{\sqrt{3}} - \frac{1}{2} \\ &= \phi(n,k) + \frac{d}{\sqrt{d+2}} - \frac{d-1}{\sqrt{d+1}} + \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{1}{\sqrt{3}} - \frac{1}{2} \\ &\geq \phi(n,k) + \frac{k+1}{\sqrt{k+3}} - \frac{k}{\sqrt{k+2}} + \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{1}{\sqrt{3}} - \frac{1}{2} \end{aligned} \\ &\geq \phi(n,k) + \frac{3}{\sqrt{k+3}} - \frac{1}{\sqrt{k+2}} - \frac{2}{\sqrt{k+4}} + \frac{1}{\sqrt{3}} - \frac{1}{2} \end{aligned} \\ &\geq \phi(n,k) + \frac{1}{\sqrt{k+3}} - \frac{1}{\sqrt{k+2}} + \frac{1}{\sqrt{3}} - \frac{1}{2} \end{aligned}$$
(9)   
 &\geq \phi(n,k) + \frac{1}{\sqrt{5}} - \frac{1}{2} + \frac{1}{\sqrt{3}} - \frac{1}{2} \\ &\geq \phi(n,k) + 0.0246 > \phi(n,k). \end{aligned}

Inequalities in (8) and (9) follow from Lemma 4.

Otherwise,  $t \geq 3$ . Let  $G'' = G - v_1$ . Then  $G'' \in \mathscr{U}_{n-1,k-1}$ . Thus,

$$\begin{aligned} R'(G) &= R'(G'') + \frac{t-1}{\sqrt{t+1}} - \frac{t-2}{\sqrt{t}} + \frac{1}{\sqrt{d_1+t}} - \frac{1}{\sqrt{d_1+t-1}} \\ &\geq \phi(n-1,k-1) + \frac{t-1}{\sqrt{t+1}} - \frac{t-2}{\sqrt{t}} + \frac{1}{\sqrt{t+2}} - \frac{1}{\sqrt{t+1}} \\ &\geq \phi(n,k) + \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{t-2}{\sqrt{t+1}} + \frac{1}{\sqrt{t+2}} - \frac{t-2}{\sqrt{t}} \end{aligned}$$

$$\begin{split} &\geq \phi(n,k) + \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{\frac{k}{2}-1}{\sqrt{\frac{k}{2}+2}} + \frac{1}{\sqrt{\frac{k}{2}+3}} - \frac{\frac{k}{2}-1}{\sqrt{\frac{k}{2}+1}} (10) \\ &= \phi(n,k) + \frac{k-1}{\sqrt{k+2}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{k-2}{\sqrt{2k+8}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &> \phi(n,k) + \frac{k-1}{\sqrt{k+3}} - \frac{k-2}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{k-2}{\sqrt{2k+8}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{1}{\sqrt{k+3}} - \frac{2}{\sqrt{k+4}} + \frac{k-2}{\sqrt{2k+8}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &> \phi(n,k) + \frac{1}{\sqrt{k+4}} - \frac{2}{\sqrt{k+4}} + \frac{k-2}{\sqrt{2k+8}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{k-2-\sqrt{2}}{\sqrt{2}\sqrt{k+4}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{k-2-\sqrt{2}}{\sqrt{2}\sqrt{k+4}} + \frac{\sqrt{2}}{\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &> \phi(n,k) + \frac{k-2-\sqrt{2}}{\sqrt{2}\sqrt{k+6}} + \frac{2}{\sqrt{2}\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{k-\sqrt{2}}{\sqrt{2}\sqrt{k+6}} + \frac{2}{\sqrt{2}\sqrt{k+6}} + \frac{k-2}{\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{k-\sqrt{2}}{\sqrt{2}\sqrt{k+6}} + \frac{k-2}{\sqrt{2}\sqrt{2k+4}} \\ &= \phi(n,k) + \frac{k-\sqrt{2}}{\sqrt{2}\sqrt{k+6}} + \frac{k-2}{\sqrt{2}\sqrt{2k+4}} \\ &= \phi(n,k), \\ &= \phi(n,k), \\ &= \phi(n,k), \end{aligned}$$

where the inequality in (10) follows from Lemma 5 and the last inequality follows for  $k \ge 2$ .

By Cases 1 and 2, we complete the proof of Theorem 1.

# 

# 4. Final remark

Note that the set of all *n*-vertex unicyclic graphs is  $\bigcup_{k=0}^{n-3} \mathscr{U}_{n,k}$ . So by Theorem 1 we can determine sharp upper and lower bounds on R'(G)-values for  $G \in \bigcup_{k=0}^{n-3} \mathscr{U}_{n,k}$ . In fact, let

$$\phi(n,x) = \frac{2}{\sqrt{x+4}} + \frac{x}{\sqrt{x+3}} + \frac{n-x-3}{2},$$

where  $x \ge 0$ . Then,

$$\frac{\partial \phi(n,x)}{\partial x} = -\frac{1}{(x+4)^{\frac{3}{2}}} + \frac{1}{(x+3)^{\frac{1}{2}}} - \frac{x}{(x+3)^{\frac{3}{2}}} - \frac{1}{2} \le -\frac{1}{(x+4)^{\frac{3}{2}}} - \frac{x}{(x+3)^{\frac{3}{2}}} < 0,$$

where the last second inequality holds for  $x \ge 1$ . That is to say,  $\phi(n, x)$  is a strict decreasing function for  $x \ge 1$ . Hence, we have

$$\phi(n, n-3) < \phi(n, n-4) < \dots < \phi(n, 3) < \phi(n, 2) < \phi(n, 1),$$

i.e.,

$$R'(U_{n-3}^n) < R'(U_{n-4}^n) < \dots < R'(U_3^n) < R'(U_2^n) < R'(U_1^n).$$

On the other hand,

$$R'(U_1^n) = \frac{n-2}{2} + \frac{2}{\sqrt{5}}, \quad R'(U_0^n) = \frac{n}{2},$$

which gives

$$R'(U_0^n) - R'(U_1^n) = 1 - \frac{2}{\sqrt{5}} > 0.$$

Hence, together with (11), we get

$$R'(U_{n-3}^n) < R'(U_{n-4}^n) < \dots < R'(U_3^n) < R'(U_2^n) < R'(U_1^n) < R'(U_0^n).$$

Hence, in view of Theorem 1, we obtain the following result, in which the upper bound is proven in [5].

**Theorem 2.** Let  $G \in \bigcup_{k=0}^{n-3} \mathscr{U}_{n,k}$ , then

- (i) ([5])  $R'(G) \leq \phi(n,0)$ , the equality holds if and only if  $G \cong C_n$ .
- (ii)  $R'(G) \ge \phi(n, n-3)$ , the equality holds if and only if  $G \cong U_{n-3}^n$ .

Finally, the maximum value of R'(G) among unicyclic graphs with a given number of pendent vertices is left for future research.

### Acknowledgement

The authos are financially supported by self-determined research funds of CCNU (CCNU09Y01005, CCNU09Y01018) from the colleges' basic research and operation of MOE and the National Science Foundation of China (Grant No. 11071096). The authors would like to express their sincere gratitude to the referees for very careful reading of the paper and for all their insightful comments and valuable suggestions, which led to a number of improvements in this paper.

## References

- J. A. BONDY, U. S. MURTY, Graph Theory and its Applications, The Macmillan Press, London, 1976.
- [2] Z. DU, B. ZHOU, N. TRINAJSTIĆ, Minimum sum-connectivity indices of trees and unicyclic graphs of a given matching number, J. Math. Chem. 47(2010), 842–855.
- [3] Z. DU, B. ZHOU, On sum-connectivity index of bicyclic graphs, Bull. Malays. Math. Sci. Soc., in press.
- [4] O. IVANCIUC, T. IVANCIUC, D. CABROL-BASS, A. T. BALABAN, Evaluation in quantitative structure-property relationship models of structural descriptors derived from information-theory operators, J. Chem. Inform. Comput. Sci. 40(2000), 631–643.
- [5] Y. FENG, S. LI, J. SHEN, On the sum-connectivity index of unicyclic graph, preprint.
- [6] S. LI, On the sum-connectivity index of conjugated trees and unicyclic graphs, preprint.

- B. LUČIĆ, N. TRINAJSTIĆ, B. ZHOU, Comparison between the sum-connectivity and product-connectivity indices for benzenoid hydrocarbons, Chem. Phys. Lett. 475(2009), 146–148.
- [8] X. LI, I. GUTMAN, Mathematical Aspects of Randić-Type Molecular Structure Descriptors, University of Kragujevac, Kragujevac, 2006.
- [9] X. PAN, J. XU, C. YANG, On the Randić index of unicyclic graphs with k pendent vertices, Commun. Math. Comput. Chem. 55(2006), 409–417.
- [10] M. RANDIĆ, On characterization of molecular branching, J. Am. Chem. Soc. 97(1975), 6609–6615.
- [11] R. XING, B. ZHOU, N. TRINAJSTIĆ, Sum-connectivity index of molecular trees, J. Math. Chem. 48(2010), 583-591.
- [12] B. ZHOU, N. TRINAJSTIĆ, On a novel connectivity index, J. Math. Chem. 46(2009), 1252–1270.
- [13] B. ZHOU, N. TRINAJSTIĆ, On general sum-connectivity index, J. Math. Chem. 47(2010), 210–218.